MULTIPLE CONVOLUTION FORMULAE ON CLASSICAL COMBINATORIAL NUMBERS

Wenchang Chu

Department of Applied Mathematics, Dalian University of Technology, Dalian 116024, P. R. China chu.wenchang@unile.it

Xiaoyuan Wang †

Department of Applied Mathematics, Dalian University of Technology, Dalian 116024, P. R. China xiaoyuan.dlut@yahoo.com.cn

Received: 05/10/07, Revised: 10/24/07, Accepted: 11/06/07, Published: 11/28/07

Abstract

We establish a general summation theorem, which expresses multiple convolutions in closed forms. As examples, several interesting formulae regarding the numbers of Fibonacci, Lucas and Pell are given.

0. Introduction

For $m, n \in \mathbb{N}_0$ with \mathbb{N}_0 being the set of non-negative integers, let $\sigma_n(m)$ be the set of (n+1)-compositions of m-n given by

$$\sigma_n(m) = \{ \mathbf{k} := (k_0, k_1, \dots, k_n) \mid k_0 + k_1 + \dots + k_n = m - n \text{ with each } k_i \in \mathbb{N}_0 \}.$$

Consider a sequence $\{w_n\}_{n\in\mathbb{N}_0}$ associated with the ordinary generating function

$$W(x) = \sum_{n \ge 0} w_n x^n \quad \rightleftharpoons \quad w_n = [x^n] W(x)$$

where $[x^n]W(x)$ stands for the coefficient of x^n in the formal power series W(x). This paper will investigate the Ω -function with an extra indeterminate λ defined by the following

[†] The corresponding author: Xiaoyuan Wang (xiaoyuan.dlut@yahoo.com.cn)

multiple convolution:

$$\Omega_m(\lambda, w) := \sum_{n=0}^m \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^n w_{k_i}.$$
(1)

Then the main result of this paper may be stated as follows.

Theorem 1 (Multiple convolution formula).

$$\Omega_m(\lambda, w) = [x^m] \frac{W(\lambda x)}{1 - xW(\lambda x)}.$$

Proof. This theorem contains many summation formulae as special cases even though its proof is almost a routine matter. In fact, we have

$$\Omega_m(\lambda, w) = \sum_{n=0}^m [x^{m-n}] W^{n+1}(\lambda x) = [x^m] \sum_{n=0}^m x^n W^{n+1}(\lambda x)$$
$$= [x^m] \frac{W(\lambda x) \{1 - x^{m+1} W^{m+1}(\lambda x)\}}{1 - x W(\lambda x)} = [x^m] \frac{W(\lambda x)}{1 - x W(\lambda x)}$$

which confirms the formula stated in the theorem.

The purpose of this short paper is to show several interesting closed formulae from Theorem 1 on multiple summations. The sequences of which we are concerned have rational functions as their generating functions. In particular, the convolution formulae involving Fibonacci numbers, Lucas numbers, and Pell numbers will be examined.

1. Fibonacci Numbers

Among the classical combinatorial sequences, Fibonacci numbers [4, §6.6] are well-known. They are defined through the recurrence relation

$$F_0 = 0, \quad F_1 = 1, \quad F_n = F_{n-1} + F_{n-2} \quad \text{for} \quad n \ge 2$$
 (2a)

and the ordinary generating function

$$F(x) := \sum_{n\geq 0} F_n x^n = \frac{x}{1-x-x^2}.$$
 (2b)

Then we have the following decomposition into partial fractions:

$$\frac{F(\lambda x)}{1 - xF(\lambda x)} = \frac{\lambda x}{1 - \lambda x - \lambda x^2 - \lambda^2 x^2} = \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} \left\{ \frac{1}{1 - x\alpha} - \frac{1}{1 - x\gamma} \right\}$$

where α and γ are given respectively by

$$\alpha = \frac{\lambda + \sqrt{4\lambda + 5\lambda^2}}{2}$$
 and $\gamma = \frac{\lambda - \sqrt{4\lambda + 5\lambda^2}}{2}$. (3)

According to Theorem 1, we get the multiple convolution formula

$$\Omega_m(\lambda, F) = \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} (\alpha^m - \gamma^m)$$

which may explicitly be restated as the following proposition.

Proposition 2 (Multiple convolution formula on Fibonacci numbers).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} F_{k_i} = \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} (\alpha^m - \gamma^m).$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, F)$
1	$\frac{1}{3} \left\{ 2^m - (-1)^m \right\}$
2	$\frac{1}{\sqrt{7}} \left\{ (1 + \sqrt{7})^m - (1 - \sqrt{7})^m \right\}$
3	$\sqrt{\frac{3}{19}} \left\{ \left(\frac{3+\sqrt{57}}{2} \right)^m - \left(\frac{3-\sqrt{57}}{2} \right)^m \right\}$
4	$\frac{1}{\sqrt{6}} \left\{ (2 + 2\sqrt{6})^m - (2 - 2\sqrt{6})^m \right\}$
5	$\sqrt{\frac{5}{29}} \left\{ \left(\frac{5+\sqrt{145}}{2} \right)^m - \left(\frac{5-\sqrt{145}}{2} \right)^m \right\}$
6	$\sqrt{\frac{3}{17}} \left\{ (3 + \sqrt{51})^m - (3 - \sqrt{51})^m \right\}$
7	$\sqrt{\frac{7}{39}} \left\{ \left(\frac{7 + \sqrt{273}}{2} \right)^m - \left(\frac{7 - \sqrt{273}}{2} \right)^m \right\}$
8	$\sqrt{\frac{2}{11}} \left\{ (4 + 2\sqrt{22})^m - (4 - 2\sqrt{22})^m \right\}$
9	$\frac{3^{m+1}}{7} \left\{ 5^m - (-2)^m \right\}$

In particular when m=5, we can explicitly write down, from Proposition 2 specified with $\lambda=1$ and $\lambda=9$, the following two numerical equalities

$$F_5 + 2F_1F_3 + F_2^2 + F_1^3 = 11$$
 and $9^5F_5 + 2 \times 9^4F_1F_3 + 9^4F_2^2 + 9^3F_1^3 = 328779$.

Observing that

$$F(x) + F(-x) = \frac{x}{1 - x - x^2} - \frac{x}{1 + x - x^2} = \frac{2x^2}{1 - 3x^2 + x^4}$$

we derive the generating function of the Fibonacci numbers with even indices:

$$F^{e}(x) := \sum_{n>0} F_{2n}x^{n} = \frac{x}{1 - 3x + x^{2}}.$$

According to the partial fraction decomposition

$$\frac{F^e(\lambda x)}{1 - xF^e(\lambda x)} = \frac{\lambda x}{1 - 3\lambda x - \lambda x^2 + \lambda^2 x^2}$$
$$= \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} \left\{ \frac{1}{1 - x(\lambda + \alpha)} - \frac{1}{1 - x(\lambda + \gamma)} \right\}$$

we can similarly evaluate the multiple convolution

$$\Omega_m(\lambda, F^e) = \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} \Big\{ (\lambda + \alpha)^m - (\lambda + \gamma)^m \Big\}$$

where the parameters λ and γ are defined in (3) as before. This reads explicitly as the following summation formula.

Proposition 3 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} F_{2k_i} = \frac{\lambda}{\sqrt{4\lambda + 5\lambda^2}} \Big\{ (\lambda + \alpha)^m - (\lambda + \gamma)^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, F^e)$
1	3^{m-1}
2	$\frac{1}{\sqrt{7}} \left\{ (3 + \sqrt{7})^m - (3 - \sqrt{7})^m \right\}$
3	$\sqrt{\frac{3}{19}} \left\{ \left(\frac{9+\sqrt{57}}{2} \right)^m - \left(\frac{9-\sqrt{57}}{2} \right)^m \right\}$
4	$\frac{1}{\sqrt{6}} \left\{ (6 + 2\sqrt{6})^m - (6 - 2\sqrt{6})^m \right\}$
5	$\sqrt{\frac{5}{29}} \left\{ \left(\frac{15 + \sqrt{145}}{2} \right)^m - \left(\frac{15 - \sqrt{145}}{2} \right)^m \right\}$
6	$\sqrt{\frac{3}{17}} \left\{ (9 + \sqrt{51})^m - (9 - \sqrt{51})^m \right\}$
7	$\sqrt{\frac{7}{39}} \left\{ \left(\frac{21 + \sqrt{273}}{2} \right)^m - \left(\frac{21 - \sqrt{273}}{2} \right)^m \right\}$
8	$\sqrt{\frac{2}{11}} \left\{ (12 + 2\sqrt{22})^m - (12 - 2\sqrt{22})^m \right\}$
9	$\frac{3^{m+1}}{7}\{8^m-1\}$

In addition, when m=4, we can explicitly write down, from Proposition 3 specified with $\lambda=1$ and $\lambda=9$, the following two numerical equalities

$$F_8 + 2F_2F_4 = 27$$
 and $9^4F_8 + 2 \times 9^3F_2F_4 = 142155$.

Instead, noticing that

$$F(x) - F(-x) = \frac{x}{1 - x - x^2} + \frac{x}{1 + x - x^2} = \frac{2x(1 - x^2)}{1 - 3x^2 + x^4}$$

we derive the generating function of the Fibonacci numbers with odd indices:

$$F^{o}(x) := \sum_{n>0} F_{1+2n} x^{n} = \frac{1-x}{1-3x+x^{2}}.$$

Taking into account the partial fraction decomposition

$$\frac{F^{o}(\lambda x)}{1 - xF^{o}(\lambda x)} = \frac{1 - \lambda x}{1 - x - 3\lambda x + \lambda x^{2} + \lambda^{2}x^{2}}$$
$$= \frac{1}{\sqrt{1 + 2\lambda + 5\lambda^{2}}} \left\{ \frac{\hat{\alpha} - \lambda}{1 - x\hat{\alpha}} - \frac{\hat{\gamma} - \lambda}{1 - x\hat{\gamma}} \right\},$$

where $\hat{\alpha}$ and $\hat{\gamma}$ are given respectively by

$$\hat{\alpha} = \frac{1 + 3\lambda + \sqrt{1 + 2\lambda + 5\lambda^2}}{2} \quad \text{and} \quad \hat{\gamma} = \frac{1 + 3\lambda - \sqrt{1 + 2\lambda + 5\lambda^2}}{2}, \tag{4}$$

the corresponding multiple convolution has the following closed form:

$$\Omega_m(\lambda, F^o) = \frac{1}{\sqrt{1 + 2\lambda + 5\lambda^2}} \Big\{ (\hat{\alpha} - \lambda) \, \hat{\alpha}^m - (\hat{\gamma} - \lambda) \, \hat{\gamma}^m \Big\}.$$

We state it explicitly as the following proposition.

Proposition 4 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} F_{1+2k_i} = \frac{1}{\sqrt{1+2\lambda+5\lambda^2}} \Big\{ (\hat{\alpha} - \lambda) \, \hat{\alpha}^m - (\hat{\gamma} - \lambda) \, \hat{\gamma}^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, F^o)$
1	$\frac{1}{2\sqrt{2}}\left\{(1+\sqrt{2})(2+\sqrt{2})^m - (1-\sqrt{2})(2-\sqrt{2})^m\right\}$
2	$\frac{1}{5}\left\{1+4\times6^{m}\right\}$
3	$\frac{1}{2\sqrt{13}} \left\{ (2 + \sqrt{13})(5 + \sqrt{13})^m - (2 - \sqrt{13})(5 - \sqrt{13})^m \right\}$
4	$\frac{1}{\sqrt{89}} \left\{ \left(\frac{5 + \sqrt{89}}{2} \right) \left(\frac{13 + \sqrt{89}}{2} \right)^m - \left(\frac{5 - \sqrt{89}}{2} \right) \left(\frac{13 - \sqrt{89}}{2} \right)^m \right\}$
5	$\frac{1}{2\sqrt{34}} \left\{ (3 + \sqrt{34})(8 + \sqrt{34})^m - (3 - \sqrt{34})(8 - \sqrt{34})^m \right\}$
6	$\frac{1}{\sqrt{193}} \left\{ \left(\frac{7 + \sqrt{193}}{2} \right) \left(\frac{19 + \sqrt{193}}{2} \right)^m - \left(\frac{7 - \sqrt{193}}{2} \right) \left(\frac{19 - \sqrt{193}}{2} \right)^m \right\}$
7	$\frac{1}{2\sqrt{65}} \left\{ (4 + \sqrt{65})(11 + \sqrt{65})^m - (4 - \sqrt{65})(11 - \sqrt{65})^m \right\}$
8	$\frac{1}{\sqrt{337}} \left\{ \left(\frac{9 + \sqrt{337}}{2} \right) \left(\frac{25 + \sqrt{337}}{2} \right)^m - \left(\frac{9 - \sqrt{337}}{2} \right) \left(\frac{25 - \sqrt{337}}{2} \right)^m \right\}$
9	$\frac{1}{2\sqrt{106}} \left\{ (5 + \sqrt{106})(14 + \sqrt{106})^m - (5 - \sqrt{106})(14 - \sqrt{106})^m \right\}$

We point out the identity corresponding to $\lambda=2$ has been proposed by Tauraso [6]. When m=3, we can also explicitly write down, from Proposition 4 specified with $\lambda=2$ and $\lambda=15$, the following two numerical equalities:

$$2^{3}F_{7} + 2^{3}F_{1}F_{5} + 2^{2}F_{3}^{2} + 2 \times 3F_{1}^{2}F_{3} + F_{1}^{4} = 173,$$

$$15^{3}F_{7} + 2 \times 15^{2}F_{1}F_{5} + 15^{2}F_{3}^{2} + 3 \times 15F_{1}^{2}F_{3} + F_{1}^{4} = 47116.$$

2. Lucas Numbers

Lucas numbers (cf. [4, P 312]) are defined through the recurrence relation

$$L_0 = 2, \quad L_1 = 1, \quad L_n = L_{n-1} + L_{n-2} \quad \text{for} \quad n \ge 2$$
 (5a)

and the ordinary generating function

$$L(x) := \sum_{n>0} L_n x^n = \frac{2-x}{1-x-x^2}.$$
 (5b)

Then we have the decomposition into partial fractions

$$\frac{L(\lambda x)}{1-xL(\lambda x)} = \frac{2-\lambda x}{1-2x-\lambda x+\lambda x^2-\lambda^2 x^2} = \frac{1}{\sqrt{4+5\lambda^2}} \left\{ \frac{2\mu-\lambda}{1-x\mu} - \frac{2\nu-\lambda}{1-x\nu} \right\}$$

where μ and ν are given respectively by

$$\mu = \frac{2 + \lambda + \sqrt{4 + 5\lambda^2}}{2}$$
 and $\nu = \frac{2 + \lambda - \sqrt{4 + 5\lambda^2}}{2}$. (6)

By means of Theorem 1, we obtain the following closed formula

$$\Omega_m(\lambda, L) = \frac{1}{\sqrt{4 + 5\lambda^2}} \left\{ (2\mu - \lambda)\mu^m - (2\nu - \lambda)\nu^m \right\}$$

which leads us consequently to the following proposition.

Proposition 5 (Multiple convolution formula on Lucas numbers).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} L_{k_i} = \frac{1}{\sqrt{4+5\lambda^2}} \Big\{ (2\mu - \lambda)\mu^m - (2\nu - \lambda)\nu^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, L)$
1	$5 \times 3^{m-1}$
2	$\frac{1}{\sqrt{6}} \left\{ (\sqrt{6} + 1)(2 + \sqrt{6})^m + (\sqrt{6} - 1)(2 - \sqrt{6})^m \right\}$
3	$\frac{1}{7}\{9\times 6^m + 5(-1)^m\}$
4	$\frac{1}{\sqrt{21}} \left\{ (\sqrt{21} + 1)(3 + \sqrt{21})^m + (\sqrt{21} - 1)(3 - \sqrt{21})^m \right\}$
5	$\frac{1}{\sqrt{129}} \left\{ (2 + \sqrt{129}) \left(\frac{7 + \sqrt{129}}{2} \right)^m - (2 - \sqrt{129}) \left(\frac{7 - \sqrt{129}}{2} \right)^m \right\}$
6	$\frac{1}{\sqrt{46}} \left\{ (\sqrt{46} + 1)(4 + \sqrt{46})^m + (\sqrt{46} - 1)(4 - \sqrt{46})^m \right\}$
7	$\frac{1}{\sqrt{249}} \left\{ (2 + \sqrt{249}) \left(\frac{9 + \sqrt{249}}{2} \right)^m - (2 - \sqrt{249}) \left(\frac{9 - \sqrt{249}}{2} \right)^m \right\}$
8	$\frac{2}{9} \{ 5 \times 14^m - (-4)^{m+1} \}$
9	$\frac{1}{\sqrt{409}} \left\{ (2 + \sqrt{409}) \left(\frac{11 + \sqrt{409}}{2} \right)^m - (2 - \sqrt{409}) \left(\frac{11 - \sqrt{409}}{2} \right)^m \right\}$

Noting that

$$L(x) + L(-x) = \frac{2-x}{1-x-x^2} + \frac{2+x}{1+x-x^2} = \frac{4-6x^2}{1-3x^2+x^4}$$

we get the generating function of the Lucas numbers with even indices:

$$L^{e}(x) := \sum_{n \ge 0} L_{2n} x^{n} = \frac{2 - 3x}{1 - 3x + x^{2}}.$$

From the decomposition into partial fractions

$$\frac{L^e(\lambda x)}{1 - xL^e(\lambda x)} = \frac{2 - 3\lambda x}{1 - 2x - 3\lambda x + 3\lambda x^2 + \lambda^2 x^2}$$
$$= \frac{1}{\sqrt{4 + 5\lambda^2}} \left\{ \frac{2\mu - \lambda}{1 - x(\lambda + \mu)} - \frac{2\nu - \lambda}{1 - x(\lambda + \nu)} \right\}$$

we can similarly evaluate the multiple convolution

$$\Omega_m(\lambda, L^e) = \frac{1}{\sqrt{4+5\lambda^2}} \left\{ (2\mu - \lambda)(\lambda + \mu)^m - (2\nu - \lambda)(\lambda + \nu)^m \right\}$$

where the parameters μ and ν are defined as before. This reads explicitly as the following summation formula.

Proposition 6 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} L_{2k_i} = \frac{1}{\sqrt{4+5\lambda^2}} \Big\{ (2\mu - \lambda)(\lambda + \mu)^m - (2\nu - \lambda)(\lambda + \nu)^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, L^e)$
1	$\frac{1}{3}\{1+5\times4^m\}$
2	$\frac{1}{\sqrt{6}} \left\{ (\sqrt{6} + 1)(4 + \sqrt{6})^m + (\sqrt{6} - 1)(4 - \sqrt{6})^m \right\}$
3	$\frac{1}{7}\{9^{m+1} + 5 \times 2^m\}$
4	$\frac{1}{\sqrt{21}} \left\{ (\sqrt{21} + 1)(7 + \sqrt{21})^m + (\sqrt{21} - 1)(7 - \sqrt{21})^m \right\}$
5	$\frac{1}{\sqrt{129}} \left\{ (2 + \sqrt{129}) \left(\frac{17 + \sqrt{129}}{2} \right)^m - (2 - \sqrt{129}) \left(\frac{17 - \sqrt{129}}{2} \right)^m \right\}$
6	$\frac{1}{\sqrt{46}} \left\{ (\sqrt{46} + 1)(10 + \sqrt{46})^m + (\sqrt{46} - 1)(10 - \sqrt{46})^m \right\}$
7	$\frac{1}{\sqrt{249}} \left\{ (2 + \sqrt{249}) \left(\frac{23 + \sqrt{249}}{2} \right)^m - (2 - \sqrt{249}) \left(\frac{23 - \sqrt{249}}{2} \right)^m \right\}$
8	$\frac{2}{9} \{ 5 \times 22^m + 4^{m+1} \}$
9	$\frac{1}{\sqrt{409}} \left\{ \left(2 + \sqrt{409}\right) \left(\frac{29 + \sqrt{409}}{2}\right)^m - \left(2 - \sqrt{409}\right) \left(\frac{29 - \sqrt{409}}{2}\right)^m \right\}$

Moreover, observing that

$$L(x) - L(-x) = \frac{2-x}{1-x-x^2} - \frac{2+x}{1+x-x^2} = \frac{2x(1+x^2)}{1-3x^2+x^4}$$

we derive the generating function of the Lucas numbers with odd indices:

$$L^{o}(x) := \sum_{n \ge 0} L_{1+2n} x^{n} = \frac{1+x}{1-3x+x^{2}}.$$

In view of the partial fraction decomposition

$$\frac{L^{o}(\lambda x)}{1 - xL^{o}(\lambda x)} = \frac{1 + \lambda x}{1 - x - 3\lambda x - \lambda x^{2} + \lambda^{2} x^{2}}$$
$$= \frac{1}{\sqrt{1 + 10\lambda + 5\lambda^{2}}} \left\{ \frac{\hat{\mu} + \lambda}{1 - x\hat{\mu}} - \frac{\hat{\nu} + \lambda}{1 - x\hat{\nu}} \right\}$$

where $\hat{\mu}$ and $\hat{\nu}$ are given respectively by

$$\hat{\mu} = \frac{1 + 3\lambda + \sqrt{1 + 10\lambda + 5\lambda^2}}{2}$$
 and $\hat{\nu} = \frac{1 + 3\lambda - \sqrt{1 + 10\lambda + 5\lambda^2}}{2}$ (7)

we can similarly evaluate the corresponding multiple convolution

$$\Omega_m(\lambda, L^o) = \frac{1}{\sqrt{1 + 10\lambda + 5\lambda^2}} \left\{ (\hat{\mu} + \lambda) \, \hat{\mu}^m - (\hat{\nu} + \lambda) \, \hat{\nu}^m \right\}$$

which leads us to the following proposition.

Proposition 7 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} L_{1+2k_i} = \frac{1}{\sqrt{1+10\lambda+5\lambda^2}} \Big\{ (\hat{\mu} + \lambda) \, \hat{\mu}^m - (\hat{\nu} + \lambda) \, \hat{\nu}^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, L^o)$
1	$5 \times 4^{m-1}$
2	$\frac{1}{\sqrt{41}} \left\{ \frac{11 + \sqrt{41}}{2} \left(\frac{7 + \sqrt{41}}{2} \right)^m - \frac{11 - \sqrt{41}}{2} \left(\frac{7 - \sqrt{41}}{2} \right)^m \right\}$
3	$\frac{1}{2\sqrt{19}} \left\{ (8 + \sqrt{19})(5 + \sqrt{19})^m - (8 - \sqrt{19})(5 - \sqrt{19})^m \right\}$
4	$\frac{1}{11} \{ 16 \times 12^m - 5 \}$
5	$\frac{1}{4\sqrt{11}} \left\{ (13 + 2\sqrt{11})(8 + 2\sqrt{11})^m - (13 - 2\sqrt{11})(8 - 2\sqrt{11})^m \right\}$
6	$\frac{1}{\sqrt{241}} \left\{ \frac{31 + \sqrt{241}}{2} \left(\frac{19 + \sqrt{241}}{2} \right)^m - \frac{31 - \sqrt{241}}{2} \left(\frac{19 - \sqrt{241}}{2} \right)^m \right\}$
7	$\frac{1}{2\sqrt{79}} \left\{ (18 + \sqrt{79})(11 + \sqrt{79})^m - (18 - \sqrt{79})(11 - \sqrt{79})^m \right\}$
8	$\frac{1}{\sqrt{401}} \left\{ \frac{41 + \sqrt{401}}{2} \left(\frac{25 + \sqrt{401}}{2} \right)^m - \frac{41 - \sqrt{401}}{2} \left(\frac{25 - \sqrt{401}}{2} \right)^m \right\}$
9	$\frac{1}{4\sqrt{31}} \left\{ (23 + 2\sqrt{31})(14 + 2\sqrt{31})^m - (23 - 2\sqrt{31})(14 - 2\sqrt{31})^m \right\}$

3. Pell Numbers

The Pell numbers (cf. Sloane [5, A000129]) are given by the recurrence relation

$$P_0 = 1, \quad P_1 = 2, \quad P_n = 2P_{n-1} + P_{n-2} \quad \text{for} \quad n \ge 2$$
 (8a)

with the following ordinary generating function

$$P(x) := \sum_{n>0} P_n x^n = \frac{1}{1 - 2x - x^2}.$$
 (8b)

By means of the partial fraction decomposition

$$\frac{P(\lambda x)}{1 - xP(\lambda x)} = \frac{1}{1 - x - 2\lambda x - \lambda^2 x^2} = \frac{1}{\sqrt{1 + 4\lambda + 8\lambda^2}} \left\{ \frac{\xi}{1 - x\xi} - \frac{\eta}{1 - x\eta} \right\}$$

where ξ and η are given respectively by

$$\xi = \frac{1 + 2\lambda + \sqrt{1 + 4\lambda + 8\lambda^2}}{2} \quad \text{and} \quad \eta = \frac{1 + 2\lambda - \sqrt{1 + 4\lambda + 8\lambda^2}}{2}$$
(9)

we get through Theorem 1 the following multiple convolution formula

$$\Omega_m(\lambda, P) = \frac{1}{\sqrt{1 + 4\lambda + 8\lambda^2}} (\xi^{m+1} - \eta^{m+1}).$$

This reads explicitly as the following proposition.

Proposition 8 (Multiple convolution formula on Pell numbers).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} P_{k_i} = \frac{1}{\sqrt{1+4\lambda+8\lambda^2}} (\xi^{m+1} - \eta^{m+1}).$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, P)$
1	$\frac{1}{\sqrt{13}} \left\{ \left(\frac{3+\sqrt{13}}{2} \right)^{m+1} - \left(\frac{3-\sqrt{13}}{2} \right)^{m+1} \right\}$
2	$\frac{1}{\sqrt{41}} \left\{ \left(\frac{5 + \sqrt{41}}{2} \right)^{m+1} - \left(\frac{5 - \sqrt{41}}{2} \right)^{m+1} \right\}$
3	$\frac{1}{\sqrt{85}} \left\{ \left(\frac{7 + \sqrt{85}}{2} \right)^{m+1} - \left(\frac{7 - \sqrt{85}}{2} \right)^{m+1} \right\}$
4	$\frac{1}{\sqrt{145}} \left\{ \left(\frac{9 + \sqrt{145}}{2} \right)^{m+1} - \left(\frac{9 - \sqrt{145}}{2} \right)^{m+1} \right\}$
5	$\frac{1}{\sqrt{221}} \left\{ \left(\frac{11 + \sqrt{221}}{2} \right)^{m+1} - \left(\frac{11 - \sqrt{221}}{2} \right)^{m+1} \right\}$
6	$\frac{1}{\sqrt{313}} \left\{ \left(\frac{13 + \sqrt{313}}{2} \right)^{m+1} - \left(\frac{13 - \sqrt{313}}{2} \right)^{m+1} \right\}$
7	$\frac{1}{\sqrt{421}} \left\{ \left(\frac{15 + \sqrt{421}}{2} \right)^{m+1} - \left(\frac{15 - \sqrt{421}}{2} \right)^{m+1} \right\}$
8	$\frac{1}{\sqrt{545}} \left\{ \left(\frac{17 + \sqrt{545}}{2} \right)^{m+1} - \left(\frac{17 - \sqrt{545}}{2} \right)^{m+1} \right\}$
9	$\frac{1}{\sqrt{685}} \left\{ \left(\frac{19 + \sqrt{685}}{2} \right)^{m+1} - \left(\frac{19 - \sqrt{685}}{2} \right)^{m+1} \right\}$

Observing that

$$P(x) + P(-x) = \frac{1}{1 - 2x - x^2} + \frac{1}{1 + 2x - x^2} = \frac{2 - 2x^2}{1 - 6x^2 + x^4}$$

we derive the generating function of the Pell numbers with even indices:

$$P^{e}(x) := \sum_{n \ge 0} P_{2n} x^{n} = \frac{1 - x}{1 - 6x + x^{2}}.$$

Taking into account the partial fraction decomposition

$$\frac{P^e(\lambda x)}{1 - xP^e(\lambda x)} = \frac{1 - \lambda x}{1 - x - 6\lambda x + \lambda x^2 + \lambda^2 x^2}$$
$$= \frac{1}{\sqrt{1 + 8\lambda + 32\lambda^2}} \left\{ \frac{\tilde{\xi} - \lambda}{1 - x\tilde{\xi}} - \frac{\tilde{\eta} - \lambda}{1 - x\tilde{\eta}} \right\}$$

where $\tilde{\xi}$ and $\tilde{\eta}$ are given respectively by

$$\tilde{\xi} = \frac{1 + 6\lambda + \sqrt{1 + 8\lambda + 32\lambda^2}}{2} \quad \text{and} \quad \tilde{\eta} = \frac{1 + 6\lambda - \sqrt{1 + 8\lambda + 32\lambda^2}}{2}$$
 (10)

we can similarly evaluate the multiple convolution

$$\Omega_m(\lambda, P^e) = \frac{1}{\sqrt{1 + 8\lambda + 32\lambda^2}} \left\{ (\tilde{\xi} - \lambda)\tilde{\xi}^m - (\tilde{\eta} - \lambda)\tilde{\eta}^m \right\}$$

which may explicitly be restated as the following summation formula.

Proposition 9 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} P_{2k_i} = \frac{1}{\sqrt{1+8\lambda+32\lambda^2}} \Big\{ (\tilde{\xi} - \lambda) \tilde{\xi}^m - (\tilde{\eta} - \lambda) \tilde{\eta}^m \Big\}.$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

	0 () 70)
λ	$\Omega_m(\lambda, P^e)$
1	$\frac{1}{\sqrt{41}} \left\{ \frac{5 + \sqrt{41}}{2} \left(\frac{7 + \sqrt{41}}{2} \right)^m - \frac{5 - \sqrt{41}}{2} \left(\frac{7 - \sqrt{41}}{2} \right)^m \right\}$
2	$\frac{1}{\sqrt{145}} \left\{ \frac{9 + \sqrt{145}}{2} \left(\frac{13 + \sqrt{145}}{2} \right)^m - \frac{9 - \sqrt{145}}{2} \left(\frac{13 - \sqrt{145}}{2} \right)^m \right\}$
3	$\frac{1}{\sqrt{313}} \left\{ \frac{13 + \sqrt{313}}{2} \left(\frac{19 + \sqrt{313}}{2} \right)^m - \frac{13 - \sqrt{313}}{2} \left(\frac{19 - \sqrt{313}}{2} \right)^m \right\}$
4	$\frac{1}{\sqrt{545}} \left\{ \frac{17 + \sqrt{545}}{2} \left(\frac{25 + \sqrt{545}}{2} \right)^m - \frac{17 - \sqrt{545}}{2} \left(\frac{25 - \sqrt{545}}{2} \right)^m \right\}$
5	$\frac{1}{29} \left\{ 4 + 25 \times 30^m \right\}$
6	$\frac{1}{\sqrt{1201}} \left\{ \frac{25 + \sqrt{1201}}{2} \left(\frac{37 + \sqrt{1201}}{2} \right)^m - \frac{25 - \sqrt{1201}}{2} \left(\frac{37 - \sqrt{1201}}{2} \right)^m \right\}$
7	$\frac{1}{5\sqrt{65}} \left\{ \frac{29+5\sqrt{65}}{2} \left(\frac{43+5\sqrt{65}}{2} \right)^m - \frac{29-5\sqrt{65}}{2} \left(\frac{43-5\sqrt{65}}{2} \right)^m \right\}$
8	$\frac{1}{\sqrt{2113}} \left\{ \frac{33 + \sqrt{2113}}{2} \left(\frac{49 + \sqrt{2113}}{2} \right)^m - \frac{33 - \sqrt{2113}}{2} \left(\frac{49 - \sqrt{2113}}{2} \right)^m \right\}$
9	$\frac{1}{\sqrt{2665}} \left\{ \frac{37 + \sqrt{2665}}{2} \left(\frac{55 + \sqrt{2665}}{2} \right)^m - \frac{37 - \sqrt{2665}}{2} \left(\frac{55 - \sqrt{2665}}{2} \right)^m \right\}$

In addition, noticing that

$$P(x) - P(-x) = \frac{1}{1 - 2x - x^2} - \frac{1}{1 + 2x - x^2} = \frac{4x}{1 - 6x^2 + x^4}$$

we get the generating function of the Pell numbers with odd indices:

$$P^{o}(x) := \sum_{n \ge 0} P_{1+2n} x^{n} = \frac{2}{1 - 6x + x^{2}}.$$

Then we can similarly have the following partial fractions

$$\frac{P^{o}(\lambda x)}{1 - xP^{o}(\lambda x)} = \frac{2}{1 - 2x - 6\lambda x + \lambda^{2}x^{2}}$$
$$= \frac{1}{\sqrt{1 + 6\lambda + 8\lambda^{2}}} \left\{ \frac{\hat{\xi}}{1 - x\hat{\xi}} - \frac{\hat{\eta}}{1 - x\hat{\eta}} \right\}$$

where $\hat{\xi}$ and $\hat{\eta}$ are given respectively by

$$\hat{\xi} = 1 + 3\lambda + \sqrt{1 + 6\lambda + 8\lambda^2} \quad \text{and} \quad \hat{\eta} = 1 + 3\lambda - \sqrt{1 + 6\lambda + 8\lambda^2}. \tag{11}$$

Hence, we have further the multiple convolution formula

$$\Omega_m(\lambda, P^o) = \frac{1}{\sqrt{1 + 6\lambda + 8\lambda^2}} (\hat{\xi}^{m+1} - \hat{\eta}^{m+1})$$

which leads us to the following proposition.

Proposition 10 (Multiple convolution formula).

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} P_{1+2k_i} = \frac{1}{\sqrt{1+6\lambda+8\lambda^2}} (\hat{\xi}^{m+1} - \hat{\eta}^{m+1}).$$

For $\lambda \in \mathbb{N}$, the first nine examples are tabulated as follows:

λ	$\Omega_m(\lambda, P^o)$
1	$\frac{1}{\sqrt{15}} \left\{ (4 + \sqrt{15})^{m+1} - (4 - \sqrt{15})^{m+1} \right\}$
2	$\frac{1}{3\sqrt{5}} \left\{ 7 + 3\sqrt{5} \right\}^{m+1} - (7 - 3\sqrt{5})^{m+1} \right\}$
3	$\frac{1}{\sqrt{91}} \left\{ (10 + \sqrt{91})^{m+1} - (10 - \sqrt{91})^{m+1} \right\}$
4	$\frac{1}{3\sqrt{17}} \left\{ (13 + 3\sqrt{17})^{m+1} - (13 - 3\sqrt{17})^{m+1} \right\}$
5	$\frac{1}{\sqrt{231}} \left\{ (16 + \sqrt{231})^{m+1} - (16 - \sqrt{231})^{m+1} \right\}$
6	$\frac{1}{5\sqrt{13}} \left\{ (19 + 5\sqrt{13})^{m+1} - (19 - 5\sqrt{13})^{m+1} \right\}$
7	$\frac{1}{\sqrt{435}} \left\{ (22 + \sqrt{435})^{m+1} - (22 - \sqrt{435})^{m+1} \right\}$
8	$\frac{1}{\sqrt{561}} \left\{ (25 + \sqrt{561})^{m+1} - (25 - \sqrt{561})^{m+1} \right\}$
9	$\frac{1}{\sqrt{703}} \left\{ (28 + \sqrt{703})^{m+1} - (28 - \sqrt{703})^{m+1} \right\}$

From the results displayed in this paper, we see that Theorem 1 contains many multiple convolution identities as special cases. There exist numerous other sequences having rational functions as their generating functions, or equivalently, satisfying linear recurrence relations of constant coefficients, which may serve to produce multiple convolution formulae, for example, the Fibonacci polynomials appeared in [1, 2, 8, 9]. In particular, it is worthwhile mentioning that the two trigonometric sequences $\{\sin n\theta\}_{n\in\mathbb{N}_0}$ and $\{\cos n\theta\}_{n\in\mathbb{N}_0}$ satisfy the same recurrence relation

$$W_n = 2\cos\theta \ W_{n-1} - W_{n-2}$$

with the following generating functions

$$\sum_{n\geq 0} x^n \sin n\theta = \frac{x \sin \theta}{1 - 2x \cos \theta + x^2},$$

$$\sum_{n>0} x^n \cos n\theta = \frac{1 - x \cos \theta}{1 - 2x \cos \theta + x^2}.$$

The multiple convolution formula corresponding to $\{\sin n\theta\}_{n\in\mathbb{N}_0}$ reads as

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} \sin(k_i \theta) = \frac{\rho^m - \varrho^m}{2} \sqrt{\frac{\lambda \sin \theta}{1 - \lambda \sin \theta}}$$

where ρ and ρ are defined respectively by

$$\rho = \lambda \cos \theta + \sqrt{\lambda \sin \theta (1 - \lambda \sin \theta)} \quad \text{and} \quad \varrho = \lambda \cos \theta - \sqrt{\lambda \sin \theta (1 - \lambda \sin \theta)}.$$

Similarly, we have the convolution formula corresponding to $\{\cos n\theta\}_{n\in\mathbb{N}_0}$

$$\sum_{n=0}^{m} \lambda^{m-n} \sum_{\mathbf{k} \in \sigma_n(m)} \prod_{i=0}^{n} \cos(k_i \theta) = \frac{(\hat{\rho} - \lambda \cos \theta) \hat{\rho}^m - (\hat{\varrho} - \lambda \cos \theta) \hat{\varrho}^m}{\sqrt{1 - 4\lambda^2 \sin^2 \theta}}$$

where $\hat{\rho}$ and $\hat{\rho}$ are defined respectively by

$$\hat{\rho} = \frac{1 + 2\lambda\cos\theta + \sqrt{1 - 4\lambda^2\sin^2\theta}}{2} \quad \text{and} \quad \hat{\varrho} = \frac{1 + 2\lambda\cos\theta - \sqrt{1 - 4\lambda^2\sin^2\theta}}{2}.$$

References

- [1] W. Chu and V. Vicenti, Funzione generatrice e polinomi incompleti di Fibonacci e Lucas, *Boll. Un. Mat. Ital.* B6:2 (2003, Serie VIII), 289–308.
- [2] W. Chu and Q. Yan, Multiple convolution formulae on bivariate Fibonacci and Lucas polynomials, to appear in *Utilitas Mathematica*.
- [3] L. Comtet, Advanced Combinatorics, Dordrecht-Holland, The Netherlands, 1974.
- [4] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics, Addison-Wesley Publ. Company, Reading, Massachusetts, 1989.
- [5] N. J. Sloane, The On-Line Encyclopedia of Integer Sequences, (http://www.research.att.com/~njas/sequences).
- [6] R. Tauraso, Problem 11241, Amer. Math. Monthly 113:7 (2006), 656.
- [7] H. S. Wilf, Generatingfunctionology (Second Edition), Academic Press Inc., London, 1994.
- [8] T. Zhang and Y. Ma, On generalized Fibonacci polynomials and Bernoulli numbers, *J. Integer Sequences* 8 (2005), Article 05.5.3.
- [9] F. Zhao and T. Wang, Generalizations of some identities involving the Fibonacci polynomials, Fibonacci Quart. 39 (2001), 165–167.